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DOUBLE WEAVES

HULTI-BLOCK PATTERINS

With a large number of heddle-~frames any pattern can be woven
in double weaves provided that we have a sufficient number of treadles.
For instance a four--

1 mi block pattern in fig.l
.ﬁg“’gﬁ. %gmmﬁ% can be woven on 10
ﬁ%“ “ﬁ% gﬁmﬁ mm%% frames, and 16 trecadles
mﬁlf T L rwamn but if the blocks are
“mm mm FATaRIRY mrrm conbined as in fig. 2,
mn it} T I
ﬁﬁ Eﬁ mmgﬁ %ﬂmm the number of treadles
vy FRIR BV becories too high to
ikl r s
be practical (28).
Mg.l Fig.2 ven a direct tie-up

von't help very much,
because of the number of treadles which have to be used sinultaneously.
This is why even comparatively simple patterns in double weaves must
be woven either on a loom with a double harness, or with a jacquard
or dobby machine to opcrate the frames.
About the only

X _X 00 000 O_ 0 o} patterns which can be
X X 0 0 o 00g 0O . .
& e 00g 6080 O o woven vith ordihary
S S ) ‘08 S, 85°8 %% 85‘ equipment are the three-
XU 0000 0099 block ones. These will
bie x — 0000 9000 _
x X 0 00 000 000 O call for 12 frames and
X X 0 00 0O Q o} .
& & 9o ©0g ©0g Sog 16 treadles, which is
4321432143214321 practlcal}y the highest
A 'B 'C D nunber which can be

operated without machi-
Fig.3 nery. The draft in
fig,s3 will give each
block of pattern separately (groups of treadles A, B, C) and one
combination of blocks (group D).

The threading drafts as well as the tie-ups for double weaves
are really very simple, but they take a lot of space, and time when
drawn in full. Consequently we use nearly always short drafts or
profiles for threading, and short drafts for the tie-ups. In profiles
one squgre corresponds to one unit of the weave, and in short tie-up
drafts one “o% -~ to a tie-up for a four frame double weave, when the
empty spaces arc the reversed tie-up. Thus the full draft in fig.3
will have as its corresponding short draft the one in fig. L.
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The tie-up on fig.3 does not look very clear, This is because
the heddle-frames are rearranged for easier threading. If we change
the draft so that the frames which weave onc layer of the fabric will
be kept together, te¢ tie-up becomes much easier to understand. To
make the draft still clearer we marked in fig.5 the two colours in
the warp: one with x%, the other with “m', One position of the
layers (x on top) has then the usual tie~up (fig.5 A), and the other
its reverse (fig.5 B).

X Q .
7} 6 .00 000 080 0 Fig
x ¥ n 0d00 000 BOO Ge>

L321435214 3214321

The treadling in the first case (fig.3) would be 4321 for cach bloclk
of the pattern - one colour on 4 and 2, and another on 3 and 1. In
the second case (fig.5) it is 4231, which is morc convenient becausc
the fect arc usecd alternately. Herc one colour of weft is used on
trecadles 1 and 2, and the other on 3 and 4.

Ak %

Any projecct for patterns in double weave must start with the
profile., This is made from thc drawdown of the pattern as in fig.6.
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Fig.6 Fig.?7

At the same time we get short treadling draft, and short tie-up draft
(compare “Analysis of Patternsi® MW 3), which is absolutcly necessary
to develop later into the full tie-up draft.

The next step is to figure out the warp, which will give us
the number of cnds per onc square of the profile. Our profile has
11 squares, and each squarc has to have an cven number of repeats
of four. If our warp will have 440 ends, cach square will have 10
repeats or 4O ends.

The full threading draft may be drawn either as in fig.3, or
as in fig.5. In the sccond case cach ‘mi of the profilc is replacod
with 10 repcats of: xnx which gives us the draft on fig.7.

B

The treadling will be: 20 times A (4231), 20 times B (4231), 30 times
C (k231), 20 tines B (4231), and 20 times A (4231). In all blocks

the treadles 4 and 3 will caryy onc colour, and the treadles 2 and 1,
another colour.
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Refore threading the draft may be rearranged, so that the
heddles will be threcaded in
o) a continuous way (fig.S) One
rmist be very carcful with the
new tie-up. Vhen any Ifranc in
the threading draft is noved
o} to a new posgition, all the
» 9 ties lying in linc with the
Ox 20x 20x frane must.be mgved as well
The treadling with the new
Flg.u tie-up remains the sane as
hefore.
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So far we discussed only double weave woven in tabby. In
theory both layers can be woven in any weave: twill, satin, or pattern
weave, In practice only the sirnplest twills are satisfactory, because
of the number of frames they require.

The simplest twill 1:2 or 2:1 reguires 12 franes for two
block patterns. Here we have a choice of wcaving both sides in 1:2
tvill (tie-u» A, fig.9), or both sides in 2:1 twill (tic-up B), or
one side in 1:2 and the other in 2:1 tvdill (tie-up C).
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Fig.9

Fach of the above tie-ups is composed of 4 ‘units" of ties.
Unit "a% in fig.10 gives two layers of one block, both in 1:2 twill.
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Fig, 10
bs Q0 Q00000 bl is weaving the second
x 00 00 0000 . .
b'e 00 00~ 0090 block in the same way. Unit
x s JRe) 0~ 0006380 o .
R 0000 00 Q0 Yici' produces 2:1 twill for
® 0000 006 00 e
a® 293290 Q0 one block, and #d¥ for the
i s - 0 ,a
. X 888@ 090 030 other. Finally unit -e¥
% 8990000 99 4 weaves one layer in 2:1 and
g B O%p' 0828983 the other in 1:2 twill, when
= 00 00~ _Q00R ufi o ig 4 mani
- 2% 4 20,3383 f7 is its companion for the

other block.
s A1l these units can
rig.11 be combined in one tie-up
‘ and even nmore variaty can
be achieded. For instance on the same side of the fabric one block
can be woven in 1:2 and the other in 2:1 twill. Then the dircction of
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the diagonal can be changed as well, thus producing the cffect of
a turned twill, and of the double wecave at the same tine.

e shall have still more possibilities with a 1:3, 2:2, or 5:1
tyill, Individuval bloclks can be woven in any of them, as biased or
broien twill. Tig.1l shows an example of 2:2 twill with all diagonals

going in the samc direction.

3till anothor class of pattern double weaveing has onc block
woven in an entirely different weave than the othér. For instance

one block in twill, the other
in tabby, when undcrneath the

% * 08 888% 08° order is reversed.
x,l _§° S~ , 88888°mq, In fig.l2 heddle-frames
x X x % . 088c9309o9o'”w . 1, 2, 7, and & are threaded
1ost g ¥ - «gggéoggcgégqh for tabby, the remaining ones
> S '98Q%Q~“gévog~cwo~ for twill. Groups of treadles
blocks: X Ty o o 00000 "0 A and B (used alternately)
e 2-nd L321432143214321 give in the first block: twill
A B C D in the upper layer and tabby
Fic.12 in the lower laycer, when the

second block has tabby on top,
and twill underneath.

Grouns C and D give just the opposite: tabby on top in the first, and

twvill on top in the wecond block.

Basket and twill are very similar in drafting to tabby aidd twill

VHth identical treadling we

« X 03° 9992 ,3° shall get in fig.1l3 basket
x 00 000000 where we had tabby in fig.1l2
b'd 9.0 00000 o© .
x x XX 9298 16%%50°° On the other hand if we change
S 9988 530 ,8° the treadling let us say for
x 0000800 00 one giving broken twill, we
% 00000~ ©00_ O . . .
x x X X Oooo 88880000 will not get either tabby in
§321432143214321 fig.l2 or basket in figs.13.
A B c D In the same way we
. could combine other wecaves if
Fig.1l3 not for the shortage of

treadles. For instance tabby

and 1:2 or 2:1 twill cannot be woven on less than 24 treadles (only
10 frames) wunless two treadles are used at the same time, as in fig.

1h4.
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Pressing at the same time treadle A or B and one of the other treadles
we can get all combinations of ties necessary.
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